Pewntp ypaBHeHnss YIOJIKOM
1) x4 — 27x"2 — 14x + 120 =0
1) x4 — 27x~2 — 14x + 120 = 0

XN + 0*¥x"3 - (x4 -2xN3 ) =

b Kak yragaTtb x-27

120:1,2,3,4,5,...
+-
1/1,2/1,3/1,...

2N4 - 27*%4 - 14*%2 + 120 =0
X4 + 0*xN3 - 27xN2 — 14x + 120 | x-2
X4 -2XN3

2XN3 - 27XN2
2XN3 -4xXN2
-23xX"N2 - 14x
-23X"N2 + 46X
-60x + 120
-60x + 120

(X-2)(X"N3+2x"N2-23%x-60)
1:1

60:1,2,3,4,56

+- .

1/1, 2/1, 3/1, 4/1, 5/1

X=2

8+8 - 46 - 60
X=-2

-8 + 8 -

X=3

X3 + 2x"N2 - 23x - 60 | x+3
X3 + 3xN2 XN2-x-20
-XN2 - 23X
-XN2 -3X
-20x-60
-20x-60
0
(X+3)(x"2-x-20)
XxN2-x-20 =0
x1x2 = -20
Xx1+x2 =1
-4,5
answer : 2,-3,-4,5

XN3 + 2xN2 - 23x - 60

X=3
27 + 18 - 69 - 60
X=-3
-27 +18+69-60=0




